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Part - I
Siflefwsv / SCIENCE

( F’-"-'S]Q LOOMID b6 euifll / Tamil & English Version)

Crrw : 2%z waenfl | [ Qurss wHLGLTSET = 75
Time Allowed : 2%2 Hours ] [Maximum Marks : 75
afleyenr : (1) Soaisg SlamssEn sfurs siEs uHeurd e dTeTsT eraTLSmET

sfluniggé Camerarayb. éa#ml.'.lhgﬁleﬁléu GapuillmLben DS
sansrasflliurerflib 2 Lanqwrs CQgflellssay.

2) feod ey smUY eowvliaa wLLEHCL W USHEGD
<2g&5CaMgHeushEGn LwaLHSs GCouam(Bd. LLBISET euareusnE
Quenfled LweTUBHSSaD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

&M: @Qeuefenrssmar epenn) Ufleysamend CaramrL_g.
ote :

This question paper contains three sections.
Ylifley - I/ SECTION - 1
(wélliQuarser : 15) / (Marks : 15)

GOy : ()  QUAReld o eter 15 elenrsiEnEEL aflenwelsseay. 15x1=15

(i) eeoLuys gillaeda Qaer@ésuul@erer wrpm fan_sef®
Waeyb sflwnes edenlenwis CoMbLsHES erpsayd.

Note : (i)  Answer all the 15 questions,

(i) Choose the correct answer from the alternatives given in the brackets.

[(@g]@l:,u& / Taun over
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BTL_T 56 o1 L flwrer sabHm) -
HluimresTLiGed weflgar upHlw & i) ‘ o  Ameoan
(weflsoan @6 w5 Canmilafl Hadr, Gauarrarmenid Qgm&sLD, [ops
> angnse® wHmd HOTHS HerLwb, ppseismar) LInSHSD)
The correct statement about Neanderthal man is :

(the first human like hominid, started agriculture, ate meat and walked erectly,
the dead) -

buried

aeurgmred 2 L m@n Grmi _

(@Looumi®, GasrupGrmi, Qeaufiprissy, LLISTO®]T)
is a viral disease.

(Typhoid, Leprosy, Rabies, Ringworm)

s&HL uEHD sraTiUBD @ BreTlldars &
(o Fared sy, Ay L AEF sro9, esrmi@ srod, seoemmun)
An endocrine gland found in the neck is .

_(adrenal gland, pituitary gland, thyroid gland, pancreas)

wEGL sraurmseaid urdans Qumss wapuled peoLCupw s Hlspay

(BmDIBD, Werarsgew, Wi 2 (Heungd, LETHsF Csréms)
In sexual reproduction of flowering plants, the first event involved is
(fertilization, germination, regeneration, pollination)

o emriSeng 2 Crmoiiser srarlU@D elomis
(QeueTauITE, WITEnes, LDMEH, LLene)

Sensitive whiskers are found in
(Bat, Elephant, Deer, Cat)

CBUINe WTESET eTaTUMmE -& sy .‘5-’555 2 MILUTELD.

(UCGrm _CLrGameun, Faver_GrLLT, ,51'—@1—'3 L(p&aeT, UGS SN TFL] H(p&sen)
Nephridia are the excretory organ of

(Protozoans, Coelenterates, Flatworms, Annelids)

Blleme ureynd CrmiiseE aHSHESTLH

(Qemdl Ay, Haflur LeCpmi, LT Gempur(®, sreyr)
An example of water-borne disease is .

(scabies, dracunculiasis, trachoma, cholera)
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beoré seyuuTass QaraTL sBTED Bidsmyrsd SYGD. STTLET -l -
FRMUMLE STULTETSES QETaRTL Samraed SLGLD.

(Brésenradd | Hrom sersd)

A solution that contains water as the solvent is called an aqueous solution. If

carbon-di-sulphide is a solventin a given solution, then the solution is called
(aqueous solution, non-aqueous solution)

cr@iiFamsuda ANs oo o ereng. <l 2 drar bl

(@réns ubflow, wredls <iBlen, LI rfé eybflob, D denmells 2jblew)
Citric acid is present in lemon. Apple contains

(Lactic acid, Malic acid, Tartaric acid, oxalic acid)

Qar@d 16 -6 2 drer safwrisar eramiu(piLb.

(&miue GH WU, srdCasrtmenay GHLUID, CanGeorsgerm @B LoULD, enbL_Tage
& HUbD)

Group 16 elements are called .

(Carbon family, Chalcogen family, Halogen family, Nitrogen family)

Siwmsa GHougde 2amar pso Csrogdler IUPAC Quuwit

(riSan | mseean) o L
[UPAC name of the first member of alkyne is
(ethene/ethyne)

Hm@ ered -ar el _Seng TS LweTUHEDS). |
(srureny, Cwadlwsnd, dMs0s. ubs) 1 - -

The Screw Gauge is used to measure the diameter of a

(Crowbar, Thin wire, Cricket ball)

. . . T, R (R
yellllen Blenm wrmrwed sHCUTengW wHIGSHHS Lelluler <y urdwurs
Gepurenred yelrriy whsssHer wioy
(80Gurengi Hevawenwel @rilgur@n, sHCUTesWL HawamueiL. Hre s
WLRISTED, wrprg, sHCuUramswL ‘rﬁmm@u_leﬂl_ urSlwngs Gennuwid)

If the radius of the earth is reduced to half of its present value, with no bhaﬁge'in the
mass, the acceleration due to gravity will-be : s - PR

(doubled to that of its original value, four times that of its original value, remains same,
reduced to half of its original value) ., . S

[@@L‘JH‘S J/ Turn over
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o MG ' vilerr Lle
14. 30 ueyseT QEri @eananTible @WWSSELJUL—@WGT@: 2l %([E' ua}wt‘W L &
2 @ Qe e mHw Wen Wguperer 29 Wle LU S(EHLD -:91@,&.3. @" QPSS
Qgr_feparriber Geamssul LT 2ibHS <jamuiled GeuaflF&wd :
(2flsf&E@n, Gopwb, T B(m&@1D)

30 bulbs are connected in series. If one bulb is fused and the remaining ?9 t},:ullbs are
joined in series and connected to the same supply, the light in the room will be :

(increased, decreased, remained same)

15. 2 Carss sLsdule urnyb BaCamiLb Sigomad sod &8
2_(HeuT&HGLD.
(srBsULjD, erhdlreiens, gram@®n WenGemm L ib)
An electric current passing through a metallic conductor produces ________ around
it.
(magnetic field, mechanical force, induced current)

1Sfley - 11/ SECTION - II
(LUCuestaer - 40) / (Marks : 40)
GOy : eemauCuend Bmug NamsseErée el wealsseyww. 20x2=40
Note : Answer any twenty questions.

16. prusefler Garsew uary Simwdurear uamnine eries, SO UIG;.
yerar sLLgamsls LweatuBsd (Rr) gCamen s QarawmL. G GDTESD
BrUseT apeld 19n&s eumiLLeTer BrisELiqsellan LaRTLSGmens FaMIS.

In dogs the l?arking tn::lit is dominant over.the silent trait. Using Punnet Square, work
out the possible puppies born to two barking parents with genotype (Rr).

17. Quperss GCsreys Qardrosomw GaelilllLar wri 2 o g6 :
Gariur@smeré GHIIAHS. B @y (B

Who proposed the theory of Natural Selection ? Mention the two prine: i
theors principles of this

18.  wrGam@Germane HIULL AUImETSE e ereman - Sieunilen Liwe
wiear

wrg) ?
What are monoclonal antibodies ? Mention its yge,

http://www . tamilnaduboard.com
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e DFLLBSHSO (A) : Lwruliged Quelll sy Crruriseidn @rsssHd
srerULBL FHgR sissamy LWL HESSUUL T
Aydr euPflwrs QeueliCGupmLiu@®ibd.

snyeoTd (R) . genannid Gungorer Gensadleand HTLILEDE@E.

<21) (A) wpOID (R) sflwraremeu. (R) eramugy (A) - eysarar shluimar eflerésid.

) (A) sl yanmed (R) oupmy.
m) (A) seumy yarmed (R) 5.

Assertion (A) Expulsion of excess unused glucose in the blood through urine
is observed in a diabetic mellitus person.

f
\
(=) (A) LHOID (R) sfwirenepeu. (R) erenig) (A) - eydarer sflwrear afleTéHLD SiE.
(
(

Reason (R) : Insulin is not produced in sufficient quantity by pancreas.
(a) Both (A) and (R) are true and (R) explains (A).

(b) Both (A) and (R) are true but (R) doesn’t explain (A).

(c) Only (A) is true but (R) is false.

(d) (A) is false but (R) is true.

Qar@ssiul_(Herer Bluprrarseten UL auebg Seubhenn Q6D Sreaws.

Copy and identify the types of neurons given below :

] A
AR P

. / Turn over
[po=”
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Qar@RssLuL_({HeTer UL GG GUaTHE LTGRIGMETE GDSSELD.
Draw the given diagram and label the parts.

urgn g sEpsElu salll uaTyser @reamgemeand GOILGIGHS.
Mention the two unique characteristics of Mammals.

(=) mBrasslen ienoliy bHmiD CFwWD BOGSHET Wreney ?

(<) Amfr QeuelCGumb ureslear SglumLwe wellssfley B&s
air_egdlayerer Yeneumn 2 mriysamer aufleansliLbhisgis.
Ambi premd, Hmdr yo eull, Apdrsw, Hy Frdeu

(a) What are the structural and functional units of a kidney ?

(b) Arrange the organs of the human excretory system in the correct order, based on
the passage of urine.
ureter, uret!1ra, kidney, urinary bladder

(1) urgnigsafled a;rreml_ru@m L&) DDLU wirg) ?
(=) wrenanufer sHEL ereen LIYUNE ?

(@) What type of dentition is seen in mtammals ?
(b) What are modified as tusks in elephants ?

STESNTE FNTFD D OFADTONES wngbmt;);sml_ﬁmgj.

(=) Guopsar_ dewddle. arsgmsw Banssl paL Quydng ?
(=) erbs miemanuifl FHUBEDe ?

Sugar is converted into alcohol.

(a) In the above reaction what kind of process takes place ?
(b) Which micro - orgarusm is mvolved‘ ?

ERASmHg GeuellGu er@ésiiuc L LﬁGﬂTaEGTr EWL Corv e uQmLen Qmss

WPlgITg). ereom ?
A fish taken out of water cannot survive for a lc-ng time. Why ?

.t
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27. AB ey GHELES sreursd HERTIG G GUIT G G T fHessefian LULD
QarHesuuUL(HeTarg).
Types of vascular tissues in the plant stem are given which are labelled as A and B.

A B

(=) AB -@em Quwirsar o

(@) A -6 anflursts QuUTEBHETSET TeueUTy PeowsEhsds H-H5U
L@&ermen ?

(@) Name A and B

(b) How do the materials in A move upwards to the leaves ?

28. Wenmaumid 2 udTGeauglw &Epfjﬁé]mu_lé; samLHbg 19emeuHd N T& 5 EH& S

oflen L wiefl&sayb.
[ueMioaT_eble—
uSsHSTeUTRSET| | ST GUITRIGET ﬁ_qu.u:- erfl@ummer \ metr e ull flger
Py afleii@sar @ ursleflur / L grens
2 r

(1) eTeucUEns sart_LUiQummer ufrmdng ?
() D (PBD FF U] BenL_GLmID Qewd&eT wrened ?
Observe the following Bio-geo chemical cycle.

Atmosphere

Plants and
animals

| Fossil fuels | Micro organism

c (Bacteria / fungi)
B D

(a) Mention the nutrient in the given cycle.

(b) Write the activities from ‘A’ to ‘D’

A

[ HHULSE / Turn over
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29. <y mmeé GCeramenn eranme) eTevres ?

What is energy management ?

30. &erem smpmiser SeunTs Qminden sfwrear saphbeen T(PEIS.
(31) @pSwr ‘srpmsafien B’ erem enp&sLILHEDS).
(%) Qupams euryelld sramiL@n wpserenwwirar Clumgmer LGrmGue.
Correct the statements, if they are wrong.
(@) India is called the ‘country of winds'.

(b) Propane is the chief component of natural gas.

3. A@wu Gup Queib wHmb HEvul Qup Quers eueThiG®aT 1PDLTE
QuUm(BSE)s.

GUGTTMRIS 6T A B C
Smu Cumitd ‘
S — &l STmm QUL Crreflwin
Hmou Qup Quenrs o , &fw gaf
. @ADL TRe |QuiHens eumyy

Match the suitable renewable and non-renewable sources.

Sources A B C ]
Renewable’ Coal Wind Petroleum
Non-Renewable Hydrogen [Natural gas Solar energy

http://www.tamiinaduboard.com
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32. 30 Slgmb srgryent 2 Uenu 70 &. Bfe s@T&EELCUNg 2 (heurer sy
Qeploveu Hleow s56iss8le sansd(s.

Take 30g of common salt and dissolve it in 70g of water. Find the concentration of
solution in terms of weight percent.

33. @UTET e Hge apab ONESLLEDL @ smrsaas SwrsSp.

34.

(1) N&F@TED eTelcuMBMWE FTTHSS ?

(3h) AESMTFD pafleowsd sar PG igwdléEor ? D@IFHESTHT ?
(8) &sersdlan Quakaen 6rsis.

(/) sengllummer giseaflar o meuena] wng ?

Radha prepared a solution which could be separated by filtration.

(a) Name the type of solution.

(b) Is the solution transparent or opaque ?

(c) Mention the nature of the solution.

(d) Mention the size of the solute particle.

Gemeu(pd 2L euamamenw BlrLiLs.

gaflobd | SAgnblerp ap&aan Hleop | AGUSHL(H eTe
s '1 _
@Cermifles 35.5 7
: - 48 3
CGeren
N 32 - 8
Feoum .
GnBL_ERen 14 -
Complete the table given below : |
Element Atomic mass |Molecular mass Atomicity Number |
Chlorine 35.5 71 -
Ozone - 48 3
Sulphur 32 - 8 -
Nitrogen 14 - ’)

http://www . tamilnaduboard.com
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sfosms TOSHE OaTamLme, @Qremige oSl
leod ? eresr ?

If acetic acid and hydrochloric acid of same concentration are taken,

two is a stronger acid and why ?

which among the

pen@ Gsfbs Ho Qummersafien pH wéiy E6w QerH&sLUL(HETETS.

Quim(mei PH wdliy
aTIblFenss sy 22-24
s&aEnatls Frm) 4.1
Fm9 4.4-55
eSL_(H Lwerur_(p) 12.0
<9 wCGwreflwr
Sl Laumaraw uglLumie Osug &G o drer
eflen L wefl&saw.

(=1) erpEsBS QUmmHLseT HBDSSEDL 2 L ene ?
(=) THASHES QUITHLSET SISO 2 ML UImES ?

The pH values of certain familiar substances are given below :

Substance pH value
Lemon juice 22-24
Tomato juice 4.1
Coffee 44-55
Household ammonia 12.0

Analyse the data in the table and answer the following questions.

(a) Which substances are acidic in nature ?

(b) Which substances are basic in nature ?

http://www . tamiinaduboard.com
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39.

QuIrmHSSHS -
513l
(B1) UTGENTFL
() GUOTL
() Gamwen_
(/) STULT UL 6
Match the following :

Ore
(a) Bauxite
(b) Cuprite

(c) Haematite
(d) Copper pyrites

e nSIUUGSZISE
SNTEUBTLD

Assertion : In therm
Reason : Alumini

http://www . tamilnaduboard.com
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sumuun(h)
- Fe,O,4
- Cu,O
- CuFeS,
- ALO, 2H,0

Formula
- Fe,O,
- Cu,O
- CuFeS,
- Al,0,. 2H,0

Ceuluggre @l Qearsgadle (Cgrenwi
uppereuuuraflle) @ublaluggiesredr Fe,O,
LweruBEng.
sgilefluggier @m wdlamwwrer @B &ELwWw
sranl. emfluuBsgsme alars@g euamsulde
srrewTd sflwung 2 erergm ?

ite welding, aluminium powder and Fe,O, are used.

um powder is a strong reducing agent. Does the reason

satisfy the assertion ?

G Qar(sslul(eren ellassrisaie assamd oG THHaTuds
SbwsHne Qurmssworaeunens suallsgs Fns.
(=) @8 Howpp ailaeme CsTaTL @@ Hiow.

(<) @& pLeaissHe

2 WAl wrdfsemers LTGSTESL LweTLHEDS.

(@) Q8 eeway, LSS TIISEETL UTGISTES vweuBEDE).

() @& @afly eeusE®
2 (HeuT&HGHE MG

wCuTg uellés_ly CuTa LLEhISMeT

Read each description given below and say whether it fits for ethanol or ethanoic acid.
(a) Itis a clear liquid with a burning taste.

(b) Itis used to preserve biological specimens in laboratories.

(¢) Itis used to preserve food and fruit juices.

(d) On cooling, it is frozen to form ice flakes which look like a glacier.

7980

[ #muys / Turn over
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. . ?
Hm@sEnOedean (Spanner) LGy erors Qrrug T

Why does a spanner have a long handle ?

9 g@mgm%pé;a;uuQLb HmCarer

20 8. praptd 104 .8, Henpud Qarair B 61 § @)@é;,g;gﬁ(é“f oL

garap Coeuams urireneul i eraflcv, B 612 -0 FFTLS
GTeuTent ?

If an angel visits an asteroid called B 612 which h._':ts a r:adiu
104 kg, what will be the acceleration due to gravity in B6127

s of 20 m and mass of

ULSSD AC peransEnéE QL Gw odrer GsTEUWe HengenL glLeLS
SHIRTE.

Find the effective resistance across the end AC.

SLuys GhsEer Qer@ssuucfearear Gerpsaiia 2 Auaaunmps
CaipOsdssIL Wemaupo A L eumamew Blyliys.
(H155HTED, STOFD, STIUET, srifwb, srfu-emL-oéma@, sigulafiun)

=

G Wemeumis |&riw <2l CFLDESHEVEH

eréi Wemeumis |Qevdeom@éns) LB\ GETE G0

C@mpleté'the table choosing the right terms within the brackets.
(Zinc, Copper, Carbon, Lead, Lead Dioxide, Aluminium)

+ve electrode |Lead acid accumulator -
_ ye electrode  |Lechlanche -

http://www . tamilnaduboard.com
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QUF(HESs -

(1) Bemgmn L 1b (Q) -  IPxRxt
(=) Gewwiur L Ceuema (W) - Ixt
(@) Geuiu epwe (H) - RxI
(r) Blemanpss Caumgun@® (V) -  VxQ
Match the following :

(a) Charge (Q) - 2XRxt
()  Work done (W) - Ixt

(c) Heat energy (H) - RXI

(d) Potential difference (V) - VxQ

Camg L @msemer Hlylis.
(<21) Curl.mi : Heaessrhsh ; eurafls wpapudlemen GuomrLLmir :
(=) Gelwg Qsreneey : WBLLT ; S : :
Fill in the blanks.
(@) Motor : a permanent magnet ; then
Commercial motor :
(b) Focal length of a lens : metre ;

%

Power of a lens :

@aﬁ]@wéﬁr@m psHws Gelww Fy - Qurmer eearerGurg WNbusder
Blapeodamen s TeuenTULD QUETE.

If the object is placed at a principal focus Fy of a convex lens, draw the ray diagram for

the image formation.

erer 147 Qamean arQesramEemmiuled

gefureng srHNOHS B0 B0 0 5160 craes weinQeamaineminde

menLpding). smHHlo gefluiler Hansloals
o1 SlepsGeusld erenam ? :
@Gﬂ@m 8 ractive index of 1.47. What is the speed of

: having ref
. ot enters from air to kerosene naving === g ?
{;:gghfl in kerosene, if the speed of light in air 15 3x10° m/s

[ Hmpuys / Turn over
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19fley - 111 / SECTION - 111
(wHLiGuemaer : 20)/ (Marks : 20)
@iy : ()  @aQans ueHUSmbEIL G eIaTT Ssib BIETES Gﬁlmrréaa;@és?ﬁ:m
aflen_wafléseyL.
(i) GCgeneuwren QL Eiseted UL eUMTS.
Note : (i)  Answer any four questions by choosing one question from each part.

(i) Draw diagrams wherever necessary.

LES - 1/ PART - I
48. (=) &reGrpmu ereueiansuier Lyeydlng ?
(=) sreGpmilanme ghu@b UTdliyser wrene ?
() srsCpruiamen gHUBSSIL Crmis srranflufer QUi wrg ?
() sreCpmuilenan sL_HUUMSSHID TESEID epenm (PODSHEET CT(LPGIS.
(a) How is Tuberculosis transmitted ?
(b) How does Tuberculosis affect our body ?

(c) What is the causative agent of Tuberculosis ?

(d) How can it be prevented ? (any three)

9. wafly gpwenlar oGy LrsmsmaTs GHLALE, SIS Liantl&eanariyLh
GO Hs.

List out the various parts of the human brain and write a note on their functions

http://www . tamilnaduboard.com
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U@S) - 11/ PART - 1j

YESW Frouriisefc B Glumid unsﬁ]ﬁﬁﬁ@u@éas penpuliled FRHUBL Gra()

plapeyseanar TS

(=1) W5 fspay LHMD ASen cumESamaT efleuflés.

(=) @izen peanio Sewsemen oT(pEIS.
Write the two events involved in the sexual reproduction of a flowering plant.
(a)  Discuss the first event and explain its types.

(b)  Mention the advantages and disadvantages of that event.

L&, Liens, eriu@ Crrsflayh Lend L. QG 2 L opasHheE anng
LS Fhmd Qarardidisent ? STraNiismeT 6T(HSS.

We are surrounded by smoke. Is this situation good for our health ? Give reason.

@) - 111/ PART - III
Genreumd emssetien Gord cramanfdmsams samésslHs.
(=21) 7 &l. evmLienen (<24) 4.6 &. Gemgquwid
(@) 40 4. srevélubd (F) 14 4. 5Hwid (2.) 3.2 4. Ec;'uur:r
Find how many moles of atoms are there in :
(@) 7 g of Nitrogen (b) 4.6 g of Sodium | |
(c) 40 g of Calcium (d) 14 g of Lithium (e) 3.2 g of Sulphur

sfw Carorss A wpmb B @ dluemes C;HO erann fpesamm eumiLm_ e d
QarasTL LorHHL SenDLILISET. wrhflu sewiy A Gemgwbd o CorssgiL e
DL JEe aUTL|ena QeuaflCuhndmg. %mrréu,'B @maﬁlme_m urﬂa{gld{ma?.
A spangl 2i8llgs SB@SEIL S HS0, 26 _Gm“’m“flmﬁél_ '—'QWTD@@‘“
wasTapenLw C ere Gsiogedss .‘f’@_ﬁ!D@ Gr@ﬂ“"“.- rHHlu Semwiiyser
A, B wpmid Geirob C - s s, s@Hs Caudl SwaLTHS®aT 6T(Pg)s.

P At B i with the molecular formula C,H.O.
gia;icu;%n}i?u;isdu‘ie;E’;}_di;ers g:j; i?tnﬁe;;dium metal, whereas cdrr-lpout%‘dﬁ’B‘
does not. Compound ” A’ reacts with acetic acid in the presence of concentrated H,50,

to form compound ‘C’ with fruit flavour. What are the isomers ‘A", ‘B allt'l.d the
compound ‘C" ? Write suitable chemical equations.

[ Smliys / Turn over
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L@ - IV / PART - IV

54. 255 sfedaman eNflamus s, GUIIEHLD.

State law of conservation of momentum and prove it.

55. (@) uLb, Qurmer ‘O’ ML Qaadlamed 2 (HaIrEsILLL. ST @b
T -8 eNsAng. ULsHD Qaens WHMD g ereueury WbUSHS
2. (HAUTEGEDS TaTumss &ML _Hb SHTUMIULL UMTS. Qe e él e
W&Ew Gellwbd F -pé @hlés. Qoadler QUWMTE Fmos.

() aptiyer AsroaCprédulen srsmarsedr Qram®d mms.

(a) The diagram shows an object ‘0, and its image ‘I’ formed by a lens. In the
diagram, draw the lens and the rays to show how the image is formed. Mark
focus F, of the lens. Name the lens. '
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(b) Mention any two achievements of Hubble Telescope.
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